10/6/2019

Odisha Teacher Eligibility Test

S0 gl QQNQ,G@W Odisha Teacher Eligibility Test

%/ BOARD OF SECONDARY EDUCATION, ODISHA

CUTTACK-1 Grievance View response Logout
Create

e e et Paper- 1

Roll No 5

Subject Paper | Date- 7-Aug-201 9
Shift- 2nd

QID : 151 - indicates the changes in the quality or character more than in quantitative
aspects.

6208 ARIKINR Q8614 0IQ 2@ IR QA 9AER JFRAG Q4N ?
Options:

1) Evolution
0@ RIS

2) Growth

Q&

3) Adaptation
QAIBAE

4) Development
Rl

Correct Answer: 4) Development
QI8

Candidate Answer: 1) Evolution
e RIS

QID : 152 - Child at any stage of his growth and development is:

JgQ 98 8 ARIIQ 6T IRER FAR 62PN ?
Options:

1) both a genetic and biological entity.

QA JEIgaTe 8 6530 AQ |

2) a product of only heredity.

YRR @I |

3) a products of both heredity and environment.
QG Qe G A6 QAL |

4) a product of only environment.

Q9P JR6REIQ Q< |
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Correct Answer: 3) a products of both heredity and environment.
Qe °9IgeT B AGERIQ QIS |

Candidate Answer: 3) a products of both heredity and environment.
QO °9IgeT B AGEREIQ QIS |

QID : 153 - Which one of the following is NOT a phase of cognitive development as proposed by
Jerome Burner?

399 629G 636017 9Aa IRl FALRYQ LRIFIS FAIQ IR IQ 6L ?
Options:

1) Enactive
2Eea ee
2) Iconic
el

3) Symbolic
Areada

4) Didactic
QAR

Correct Answer: 4) Didactic
QUL

Candidate Answer: 1) Enactive
2EeR

QID : 154 - The physical characteristics such as height, weight, colour of eye and skin, social and
intellectual behaviour are determined by

Q99, 684, 2IY 6 5Fa aF, ACITR 6 6A1ES QLR AR CLIoR 61T QI TR FRYS 6TIRAN ?

Options:

1) heredity
Q°qIRel

2) environment
aeead

3) culture
Qe

4) nurture
dine 6dIYE

Correct Answer: 1) heredity
QANGRe

Candidate Answer: 2) environment
aceasl
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QID : 155 - includes all the extrinsic forces, influences and conditions which affect the
life, nature, behaviour, the growth, development and maturation of living organism.

6Q66 ALY AAR, AGEIRS 8 ARG 2D K61, AILIF F19Q K194, JYF, LR, 9B, IRIE G
AURGIQ YAGE QEQ ?

Options:

1) Culture
IS

2) Nurture
diae 6dIYE

3) Heredity
Q°IGGe

4) Environment
acead

Correct Answer: 4) Environment
aceasl

Candidate Answer: 4) Environment
aeead

QID : 156 - Which one of the following is one of the phases of cognitive development as proposed
by Burner?

709 6966 9RaE Al GAARYR LRIFINR TR IR IQ 266 ?
Options:

1) Inductive
d9aIR

2) Iconic
genae

3) Deductive
FAARIAR

4) Didactic
QACQIR

Correct Answer: 2) Iconic
atallsl=

Candidate Answer: 1) Inductive
2IQIRR
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QID : 157 - According to which theory, an individual learns what is desirable but also eliminates
avoids or unlearns undesirable habits, unhealthy attitudes, superstition, fear and phobia through
de-conditioning?

600 99 82IR6Q, AIT! G FAIAIRAN, G668 GI2! IAI AR, A G FAUARRYR ARID, HAUD II&,
ARGYIQ, QAQ US-9IFE TRl QIR ?

Options:

1) Insightful learning
2898 J9d

2) Social learning
TR S

3) Classical conditioning
1L AGYRR

4) Operant conditioning

QeIgYe aA99Re

Correct Answer: 3) Classical conditioning
a1 AGqea

Candidate Answer: 2) Social learning
AAIGS Sl

QID : 158 - According to reinforcement is an effective means to modify the
undesirable behaviour of students or to make them learn new behaviour in the classroom.

Q12 2QIQ6Q, 9R1AAY 6208 TRAIRFA 2SI FAULRRLYI MRLR FARIR AIR Q1 6JEIG26R G2 MR
IR AN 9D GRS FlIIA ?

Options:

1) Insightful learning
2298 93¢

2) Social learning
AATR S

3) Classical conditioning
a1 AGqea

4) Operant conditioning

QRIgYe 2QeRe

Correct Answer: 3) Classical conditioning
Qe AGQRe

Candidate Answer: 1) Insightful learning
2298 93¢
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QID : 159 - is the ability to make or do something new that is also useful or
valued by others.

6208 @% Q2GR *ARIA QI QI FAUR VAG!, VILIGE AGAIER FRQ S MY

cQRal@ |
Options:

1) Creativity
alelabiilaty

2) Intelligence
Q&

3) Personality
Y3Q

4) Learning
&l

Correct Answer: 1) Creativity
alelenjlale]

Candidate Answer: 3) Personality
3Q

QID : 160 - Stimulus Generalisation is associated with which learning theory?

60 991 ARIR A2 AR1TR AVIQGIRAE ATE AXGS ?
Options:

1) Insightful learning
2898 J9d

2) Social learning
AATR S

3) Classical conditioning
SIQC AQaR

4) Operant conditioning

QeIgYe aA99Re

Correct Answer: 3) Classical conditioning
3 AQQR

Candidate Answer: 4) Operant conditioning

QEIYYE 2QQRQ

QID : 161 - Which one of the following can teachers use to encourage students’ divergent
thinking?

JRFIGFA 2AAQ 209 6912ITC 2GQ! AR TR 6296 LTI FAAIRER ?

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

5/67



10/6/2019

Odisha Teacher Eligibility Test
Options:

1) rote memorisation
6AITRQ A6RAYR!

2) close-ended questions
016 QRAIRe I4

3) positive punishment
VAR QERUIS

4) open-ended questions
(9-20QRe 94

Correct Answer: 4) open-ended questions
{8-2@Q¢re Jg

Candidate Answer: 4) open-ended questions
(8-e@aqee 94

QID : 162 - is defined as the generation of ideas that are new as well as useful,
productive, and appropriate.

6208 69229 aIga Q& QIel Q2l, QISLRR, AAELIT 8 RAYS 26T |
Options:

1) Creative thinking
JeadIR 988

2) Divergent thinking
QA G2

3) Convergent thinking
2RAA 3@

4) Problem solving
Ayl QAR

Correct Answer: 1) Creative thinking
qeadin 53R

Candidate Answer: 1) Creative thinking
qeadIn 537

QID : 163 - Which scheme aimed at providing educational opportunities to learners with
disabilities in regular schools, and to facilitate their achievement and retention?

60 6019718 QY AFATE FNIRAER AVAGI gal TAIAIRT JVIQ Y6AIF 6091 263, G 6ATITTA ATFT! G
AUQEARING AR @RI 26T ?

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

6/67



10/6/2019

Odisha Teacher Eligibility Test
Options:

1) Integrated Education for Disabled Children (IEDC)

21101 &JQ1 dRIE QIR AFI6R4 d3I (IEDC)

2) District Primary Education Programme (DPEP)

Gl gladie dal @idige (DPEP)

3) The United Nations Economic and Special Commission for Asia and the Pacific (UNESCAP)
32l 6 60dTR IR LY AU 2P} 6 F6aT AFA] (UNESCAP)

4) Inclusive Education Scheme

2e56Q41 89l 6QISa!

Correct Answer: 1) Integrated Education for Disabled Children (IEDC)
ARG gl JAIF IR AAIER41 §al (IEDC)

Candidate Answer: 2) District Primary Education Programme (DPEP)
Gl gladie da1 QIdigea (DPEP)

QID : 164 - Inclusive education is carried out in a

2RF6a41 R 6QQ0I6R 621NN ?
Options:

1) extreme learning environment
QR60IQ FRI 964

2) segregated learning environment
oI d aQsQs

3) common learning environment
QRIS S| ARERE

4) diminished learning environment
18 S aQ6QS

Correct Answer: 3) common learning environment
ARIQE RV AAERS

Candidate Answer: 4) diminished learning environment
18 G AQER4!

QID : 165 - Which of these is the centrally sponsored scheme launched by the government in
1974, which aimed to provide educational opportunities to children with special needs (CWSN) in
regular schools and to facilitate their achievement and retention?

IR FRIQ 6806 AARIAE FIAl 197464 2IAR QAIINYSI 60919 60IAIEE QIR 86T, AIZIQ ASY
AR FNIRACR F6ET 2RaNAG! 891 FRIFIRG (CWSN) FRIa 6dIs 6aQl 6 6AAITa ATRG! G
2QEARIAG AQR GRS 26T ?
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Options:

1) Policy for Special Education (PSE)

QF649 G981 916 (PSE)

2) Individuals with Disabilities Exclusive Attention (IDEA)
@R dnig Q699 F16QI69I9 (IDEA)

3) Integrated Education for Disabled Children (IEDC) scheme
AR90 dRIE AR AAI6941 &SI (IEDC) 62199

4) Universal Education Policy

ANG1R Y 6ARR

Correct Answer: 3) Integrated Education for Disabled Children (IEDC) scheme
@299 dais IR AAI6961 a1 (IEDC) 60194

Candidate Answer: 1) Policy for Special Education (PSE)
QF648 G981 916 (PSE)

QID : 166 - Which one of the following strategies is NOT useful in teaching students with special
education needs?

799 AR 6908 G688 2QAIRTI 29I ANIF RIRUCR ALAR 629 A1 ?
Options:

1) Use a multiple-scenario approach to developing lesson plans

QI0Y 6011 9O KRR AR 9g-Aa91 98G QIR ARSI

2) Monitor student responses to lessons and modify lesson plans to address their different
learning needs

Q80 96 JRINIREQ JETA AYY @GQI 8 67IREA SRl 2IQTIRT! Jas @AQ! IR TI0Y 6LIRR! FQRIQS
3) Gather some tricks of the trade from fellow teachers

Q2ed! faew Ol @8 Q9108 JgQ!

4) Adopt a uniform strategy to teach all children

Q9 dRig 9QIRGI AR 9 ANG IR A5G AACRS!

Correct Answer: 4) Adopt a uniform strategy to teach all children
Qg dRT CRIRGI AR 9@ AAF IR RS TR

Candidate Answer: 3) Gather some tricks of the trade from fellow teachers
Qeed! faew Ol @8 Q9100 JgQ!

QID : 167 - is a process that allows children with special needs to enter
certain standard classrooms after they show the ability to keep up with the rest of their peers.

dagl S688 2GRl Q! INIAIRE 2Ry A2I0TE A2 JRUIRRIQ QRS 6AdIREM
AE] QIR 6541926Q Y69 KRR 2AQAG @4 ?
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Options:

1) Segregation
ARGl *QS

2) Mainstreaming
st AIQIQ 2SN
3) Name-calling
QIA-QIRa!

4) Full inclusion
Qgd 2856ad

Correct Answer: 2) Mainstreaming
s I 2SS

Candidate Answer: 3) Name-calling
QIA-QIRa!

QID : 168 - A teacher selects only boys for science quiz and only girls for a dance competition.
What behaviour is the teacher displaying?

@64 999 FRIQ ARG JF6AITIS! AIR 6297 JAIGT AIBE 6 QoY JF6AINIG! AR 6997 F2AAIRT
QI8 | Y0I6Q J9% 609 JRIQ YL 6ATIR8E ?

Options:

1) Wise selection
QRAIQ QAR

2) Scientific screening
6RIRTD QIF

3) Inclusive education
aefeqd dal

4) Gender bias

QS AQAGS!

Correct Answer: 4) Gender bias
MGG AVAIGS!

Candidate Answer: 4) Gender bias
NP AVAIGS!

QID : 169 - In which one these is the focus on learning product and outcome?

AR F1dQ 6@%584661 SIY QXY B TRATREQ AV 6QF1G 6QIR2AN ?
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Options:

1) curriculum-centred
AI0IFS 6a91R

2) Learner-centred
JQIe-6a59

3) Teacher-centred
JVR-6091R

4) subject-centred
FUL-6R5R

Correct Answer: 3) Teacher-centred
JVR-6991R

Candidate Answer: 4) subject-centred
Q-G

QID : 170 - Subject matter is organised around a real or hypothetical problem to be solved in:

GEQ RINEA CAITS U@ QILQ @ IGRFE AT 609 RIILER ATRIS *QITS ?
Options:

1) Problem-based learning
AAQYI-a4693G aal

2) Project-based learning
geg-ad46ede gl

3) Content-based learning
Q90 adieade agl

4) Curriculum-based learning
QI0Yge 9dy6ede dal

Correct Answer: 2) Project-based learning
ges-adieade dal

Candidate Answer: 2) Project-based learning
gee-adycede al

QID : 171 - is a concise statement or table of the heads of discourse, which lists the
subjects of a series of lectures, and is connected with the courses leading to examinations.

6208 U@ Y 929 QI AIFSQ Y ARG, AL U@ §F@ AUARQ TR Jo1 9ZEe 969, 9e°
42 JQINIgE AGRe FAYE AT AR |
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Options:

1) Learning objective
Q1 REF4HY

2) Syllabus

IO

3) Curriculum
Q10494

4) Course

ae)

Correct Answer: 2) Syllabus
A0S

Candidate Answer: 2) Syllabus
A0S

QID : 172 - Subject-centred curriculum (or learning) focuses primarily on:

FEY-6RQ1R AI0YGS (]I d31) e QI QUER UIFERFTS REQ ?
Options:

1) Content

3o

2) Learner

Sl

3) Teacher / Instructor

J9R/9999

4) Learners' interest, experiences and tendencies
D110 9gl, ASRVGPR G 9LRYFR

Correct Answer: 1) Content
330}

Candidate Answer: 4) Learners' interest, experiences and tendencies
JQ11a agl, 2ERVIGFR 8 4RGP

QID : 173 - Which one of these learning approaches is more likely than others to motivate
students and help them stay engaged in the material that they are learning?

7019 629 481 983 ANYER 26T 2@ TAIAIRT AREIAC F6Q B 627I6R FVIGRE QAR Fa% 96
FI6QIEKIG 6QQI6Q AIRIYY REQ ?
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Options:

1) Curriculum-centred approach
AOIFI-6RGR ARG

2) Learner-centred approach
JQIe-6559 avG

3) Teacher-centred approach
JVR-6091R ARG

4) Subject-centred approach
FYA-6059 ARG

Correct Answer: 2) Learner-centred approach
FQIe-6a59 986

Candidate Answer: 4) Subject-centred approach
QU-6R5P ARG

QID : 174 - In which one these is the focus on learning process and experiences?

AR FRIQ 696 J88 gaal G ARRAIGER AUER AIG @4 ?
Options:

1) Curriculum-centred
dIoIg¢ 6ag1e

2) Learner-centred
dgi1el1 6951Q

3) Teacher-centred
I 6aQ1R

4) Subject-centred
QU 6@Q1R

Correct Answer: 2) Learner-centred
dglel 6aQ1e

Candidate Answer: 3) Teacher-centred
I 6aQ1R

QID : 175 - enables instructors to measure the effectiveness of their teaching by linking
student performance to specific learning objectives.

9889 QIeg 6719w JN8a gRIeRIQIel AIdQI6R AIRIAY @69, AITIR ARFAITFA gedag fae
SR AERNFFR AL AHFC Q6Q ?
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Options:

1) Student assessment
218 JRuIae

2) Self-assessment
F-JRuILe

3) Peer assessment
QedIOl (imilae

4) Curriculum design
AI0YFA 983

Correct Answer: 1) Student assessment
818 IR

Candidate Answer: 2) Self-assessment
-JRUILQ

QID : 176 - enables instructors to determine the metrics of measurement for student
understanding of and proficiency in course learning objectives and provides the evidence needed
to document and validate that meaningful learning has occurred in the classroom.

gagR Ao GELQ J31 Q6R9IE TRIFINEQ QRIS 8 JI1EIG! ARIIREa AILIYY F6Q I&°
68419269 29 G981 621RYRIR LRI GAIS B ARSI 6QR2IN ?

Options:

1) Educational psychology
SQI 76213Q

2) Pedagogy

14619

3) Assessment

JRuIge

4) Curriculum design
AI0Yge 983

Correct Answer: 3) Assessment
FRuIge

Candidate Answer: 3) Assessment
RuIee

QID : 177 - involves the use of evaluative processes in which judgement to objectively
evaluate one's own work is involved.

69 622 AMIIAR QL QIS Y, 69996Q G QITIQ AERIQ FIQ ATR 2N |

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




10/6/2019 Odisha Teacher Eligibility Test
Options:

1) Formative assessment
FOQERR auIge

2) Self-assessment
g-uIae

3) Summative assessment
Sollggatliole

4) Peer assessment
Q2401 Ul

Correct Answer: 2) Self-assessment
-JRUILQ

Candidate Answer: 2) Self-assessment
-JRUILe

QID : 178 - involves the evaluation of student learning over the course of time with the
purpose of estimating students’ level of achievement in order to enhance their learning during the
learning process.

6Q FRE ALER 6ATRTR FY AR 9! JIR TATFFA ATRAIA A FITAUR XY AL 9L
A6 AA9QINIER TAFIREA SV INILS AAR 2N |

Options:

1) Formative assessment
FOR¢ma (Imile

2) Diagnostic assessment
65Q10Q IR

3) Prognostic assessment
@3gIgee ARiIae

4) Summative assessment
6QIGINS ARYIAR

Correct Answer: 1) Formative assessment
FOQERS FauIge

Candidate Answer: 2) Diagnostic assessment
65QIR@ FaUIae

QID : 179 - Which method of assessment is more likely than others to instil in the learner a sense
of ownership of one’s learning and develop transferable skills in other areas of learning that
involve group projects and teamwork, critical thinking and problem-solving, as well as leadership
roles in the teaching-learning process?

JRIDAR 629 A8G6Q FRILI0IEA 7% JF6R AMAQOIR AW FFAdE FIGE KGN 1a° FAIR AR AQ
69969 23I2Q¢ 6219l TSI FRIS @RI, ULl T JFAUCR GRS JRF 8 ARG QIKY, AR 39 @
QAAQY AARII} Gl 629Q AR ATR @F2IN
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Options:

1) Formative assessment
SI0RYRe AU

2) Self-assessment
g-JuIae

3) Summative assessment
SdICl)@ Fmilae

4) Peer assessment
Q2901 FRUIge

Correct Answer: 2) Self-assessment
I-JRUILQ

Candidate Answer: 1) Formative assessment
FOR¢ma (Ml

QID : 180 - is the marking of one’s own work against a set of criteria and potential
outcomes provided by a third person, usually the instructor.

6208 1@ 090 FI9e FeR6Q FIFA H9Q AR §26 1&° GO16 AY, AUAEHS JTRT FIQl
Q2YIRYQI AR FRITRIGR 26T |

Options:

1) Self-assessment
I-JRUILQ

2) Peer assessment
QQaI0! FRiIAe

3) Peer grading
d2dIO01 QR

4) Self-grading
F-9RQd

Correct Answer: 4) Self-grading
9-21RQE

Candidate Answer: 2) Peer assessment
Q2aI01 (imilae

QID : 181 - ISl YRR 624 ARIB YIAIFe IA6Q Y 6967 AT AR AFAIQ FI2Q AACA 6AIQ &4 ?
Options:

1) RIS AQRIA

2) QIQLIQ AL

3) Q4QUFRY

4) Q&AG°

Correct Answer: 4) Q8Qg°
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Candidate Answer: 2) QUQZIQ g1

QID : 182 - 2I88IgIT 6919R I9° AYS AUTIg A0R NI6R QR AR AT IR |
Options:

1) aiegd g8eqI8

2) egd 986qIe GGGG

3) gedsie QI8

4) QeqIe 986RI4

Correct Answer: 3) g2441e QRERIE

Candidate Answer: 1) @Ieg4d 98611

QID : 183 - 696G6Q6R 2648 QI IRl 0F 8R! AR2IE, Ag 9YE6R 64 FYRAIZ, 622 I A8 QRIAN
Options:

1) 2RQIR g&ial
2) digq Qe gdial
3) G20 QI6R gdia
4) 2R @Q g8l

Correct Answer: 1) 8% gl

Candidate Answer: 1) 8R2I9@ §da!

QID : 184 - dgQIa gIel CIRIEQ IR |
Options:

1) 2-7 @9
2)7-10 @8
3)2-8 Q¢
4)3-9Qg
Correct Answer: 1) 2-7 Q9

Candidate Answer: 4) 3-9 Qg

QID : 185 - QIEIgS 6R66% TAIF 60 19 AITIG QA6 G ZIAGYIAQ ATE *EUQ QRIAN |
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Options:

1) QIeAge
2) 9]0l

3) Q6QIIG
4) F16190

Correct Answer: 1) Q@UY?

Candidate Answer: 1) QIRUge

QID : 186 - 62161T QITI Q4R ATRTR 6221Q T RIQS [l 26T ?

Options:

1)
2) ARARQ AR
3) A0 ARINER AR
4) 999 AU

64I9lI6dIo @I AR

Correct Answer: 2) d219@1Q 2Qle

Candidate Answer: 3) Q0@ QRIQEA AU

QID : 187 - QIgl S4QIQ I6QUT 6@l9R @6l 266?
Options:

1) g9, 6RYSI, K2R 8 QGG QY

2) gdial, Qa62al, G B 6

)
) <
3) R2IQIQ @RI, AL, 2l 6221 8 L6 QYA
4) 6RSYQI, IRQ, GP6 6QYQl B QAR 629!

Correct Answer: 2) §4ql, 9216291, 959l 8 6yl

Candidate Answer: 2) géiql, @2lI62al, 9@l 8 6RYQI

QID : 188 - gl dYQl 9FAea A6TF2UR §F° @'a?
Options:

1) QI8° 6919)Ie|

2) QIRQ1 AG° |I6eRT

)
) O
3) 02Q 996Q YR AIeT AR RRIF AINE FAURS
4) QIdYaRl 6SIFS

Correct Answer: 3) ¢12Q 936Q §g2QI AIAT Ui FIRGIE ATNE ARSI
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Candidate Answer: 3) 72Q 666Q d42al A AR ARG RANE FARK

QID : 189 - GIFIQ ALIRIIR AOIQ AR IS V§I?
Options:

1) IOHR QQAER

2) 2ARYES FIAIR

)
)
3) aaa (A) G (B)
4) 69Q16919R FIFIQ

Correct Answer: 2) 2RJ6? giIQ

Candidate Answer: 3) Q@ (A) G (B)

QID : 190 - F1697ag F9@ A6Q A FIFFIATA ARQ ATG 694160 IFYQ BIFAIFTA ACQ RIS
QARIES 691I69R T1% 6Q6M, T IRINQ §5°q @'¢l QRIAIN?

Options:

1) 6066497 JIRGA IO
2) QG° 216919

3) AYFERTR MIFeAR 56°
4) QIRCARS 6712Q

Correct Answer: 1) 6J6@644Q 91969 999K

Candidate Answer: 1) 6969644Q 91969 999K

QID : 191 - FYRYS FRIQ 699 IRET OR 26S? 6UCTERER K66 AN, 6015 IBR 624 2°9g GBa!
I 699 §R QAR FAULN, BI2! FIAIRE, 6469667 VY Q IR 2°9 691R
QelgIRaN|

Options:

1
2
3
4

QOT-29 Y@l
geasy das

FU-QIRR 9gl
J6RaoR 9ol

—_— — ~— ~—

Correct Answer: 3) GJ-21Q8 9a

Candidate Answer: 4) Jd6RQGQ 9aal

QID : 192 - F9RYS FIQ 699 IREE 0] 26e? JTIIFa QIFIQIRCIQ 600¢ AGQ! AR
691G TFIR QDL 2LEL
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Correct Answer: 3) 694

Candidate Answer: 1) 60@°

QID : 193 - FORYG AIQ 679 R85 OF 266? FIRGAITR 2CAACTLER
Options:

1) g% YA 2CAAEAQ GaNg Q@q QAUAIRAN

2) QICISQ RIGY A ARSI il T-669Q F4a9I FAIAIREI

3) SQIEAIRG 661G QUIRLIRAR-0IA JaIR FAIQIREI

4) 691N 6RNIAVEATR RE°Q F1% Y& AAULIRAIN

Correct Answer: 1) 99 A ACALEALR G24q AQY FAILIRAN

Candidate Answer: 2) §91E17Q 8159 AL @ARI QIR T-669Q Q1e9l ARSI

QID : 194 - FIRYG FRIQ 620 3285 0K 2637? 641G 6541 ATIIAIRT 6Q7IRE AR VXY 659
691G\ 6g6R649Q IO A0RI AR 92g| IR 6969649RR IR 2QA6Q FIR 647 62AIAT 2163 FR6S|
Q| 26AQEFIAR IR 2°F 26T

Correct Answer: 2) Q6959

Candidate Answer: 2) Q6959

QID : 195 - YAFFR6EQ AQ0IQ TRILEIRT 6AITICAIT IR FIRYS FRIQ 60Q 6FNIR 2R S 2662
Options:

1) @2l @EQ
2) 9QQ
3) 6RYR
4) géeal
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Correct Answer: 4) §de!

Candidate Answer: 1) @2l Q&<

QID : 196 - 6QIGI6AISIA AGOIQ FQA1 AUACAR, 6208 G, AILIF

Options:

1
2
3
4

64IGI6LIFIR CHIECRANG 2R AACAISY FAR|
QIQQ IRILSIRT 8 REEAR *Aa!

fdliee e 5% 2eq 6250 @a4!

QUEAUB ANY

—_— — ~— ~—

Correct Answer: 4) QJ6QIe AL

Candidate Answer: 4) QJ6QI8 AL

Odisha Teacher Eligibility Test

FIA ARG FAULIRARQ

QID : 197 - Q837N 9TAU6Q QGUINIERIQ IR 9 98 AALIRAIRR Q13|

Options:

1) 68Q 8 621Q%%]

2) Q66QQR G 2RISR

3) Q9694 G 60I56RI]

4) Q46301 68 @QEA6LAR

Correct Answer: 1) 684 8 6QIQ@¢]

Candidate Answer: 4) QiQGJ61 8 @REACIFIQ

QID : 198 - 3641 dQIl1, FUR 6ARLR 629! ATACA ATAWIQ ATRIF FARIEA AITIAY QeI FIel FER

aeq|
Options:
1) QRTEFER AT
2) IHITR @99Q
3) QRIRATR AIFQ
4) RANIR IR

Correct Answer: 3) QQIQAGQ NIFQ

Candidate Answer: 1) QRU6ATR AIQ

QID : 199 - FIRYE ARIQ @ R6E ATR RIFEQTR 9LE?
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Options:

1) @641, O AIEERANGE] JAURR B JIBR QIS QALIAR @Q& same option
2) 9641, O @YIFERTAE AV QAR F9Q HIAHRIRIER AV g2T

3) 9661, I AIECAUNYPY TARR 8 YIFR QR QAR FQBTffff

4) 364, T4 Qg0 @8 QIGaIE A @8 AIgIER Aee Qea

Correct Answer: 4) 64, 3 Qg0 @8 918218 Gg @8 FIgI6a Gae gad

Candidate Answer: 4) @64, 04 Qg0 @8 FI192I8 @g @F 7IgI6a e Qed

QID : 200 - 3¢] QIAER “FIICR” IR 6RR 2°F QIER MILIQ 62IRE ? ¢] AT 6RIRIF YRR A6
6IRAIRYQ! RGE |

Correct Answer: 1) JeaigaQ

Candidate Answer: 1) J6d1GAQ

QID : 201 - QAgS F6AIFAR A2 YAIAIR YRE @1 | 691161 8RAF ___ OR QI6@ 65I9RI2 @ IR Q12 |
Options:

1) 6Q
2) 0IQ
3)Q
4) 62l

Correct Answer: 4) 62l

Candidate Answer: 4) 6afl

QID : 202 - QAYS A6AIGS AL AR YA AR | 671160 260R FIFFTRIQ AT ¢ o a2 deaql
AR RS 1T |
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Correct Answer: 1) 69¢

Candidate Answer: 1) 60§

QID : 203 - 6RIRSISIQ 212 6R%g | 56 9aRIg 29 QI |
Options:

1) 93 2w A6Y RITIQ &Y 616D GTQ 2 ARRES AT, IS 6ACRG AR FAVQE

2) 2196 9G 6@16IT Q2R URY, FI626M IS 671G AFQ @R QS |

3) 4G QI2Ia Al 616Id FEYV 6aR AT QS XK AT, FI6LEM AL Gl ARS *Q QG |
4) 93 2IAE 62RIY6R AGAR, 2SI 6QAAT AARIR AR VRS |

Correct Answer: 3) 4G QI2IQ &¢I 6Q161d TGV 69R AT QgE ARG T, GI626M &S GIF AARQ
QQ AI9E |

Candidate Answer: 3) 93 QI2IQ @ql 66164 GRS 60 2IAEF Qe VK| AT, G626 2AS Gl
AR} @Q QB |

QID : 204 - 6RIKSIEN AYE KB — G6E 6RIR FF AR
Options:

1) 2R BT AR

2) 2Q QU@ /S

3) AR Q4B ARG

4) A IPF STRS

Correct Answer: 3) 284 Q4@ AIQAIZ

Candidate Answer: 3) 24 Q4@ QRIS

QID : 205 - RGOS JUIFQ IR ATE UL Ie° FI6Q QI JIRYQI 98 JPFa Qe Gag : AR 2aml
QS FRCARR QI FIFR QG 98I 2262 9T AR ARNEE FLIR-CBI MG AALIQ AV Q1A QLA GIF6S @
AR A4 Q6] AN T 6991 QAR QT AR (1) 2QE VA A §YF-RIE- TRIE J8Ie QA FAIA T2
F165 696 6QI6919Q1 2IA IR Q6T 2IFIT: GIGET ISR ATIA6R,

dQ-6RInI GER ARIB AGRI QLG 6QYIQ SIgEB?

Options:
1) Qiol
2) @9l
3) @QIR1
4) Q1961

Correct Answer: 1) Q1o
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Candidate Answer: 1) 41l

QID : 206 - RS JUIFIQ IR ATE VLG Ue° FI6Q T2l AR 9E JPF0 Qe Gag : AR 2am
Q@ SRR 94l FINR AR GV 2965 AF1 AR ARER HLIR-BI IR QALIQ AGIF A QLR YIFEE OF
AR Q9 R6d QI G 6991 QAHR QIS AILMII (1) RS @V AIA @YA-RIT- TRIS IS QA QA F2AB
169 629 6Q16919a1 AT YA Q6T 2QD: FIgESE FESRIT RASAES,

Qdl, FINRIF IR QAL QA @'4) AEYeM?

1) 6510@ Q9

2) olel TR

3) @ gm

4) QIRAGLQ 671G

Correct Answer: 2) QIQ O@

Candidate Answer: 3) 4& g

QID : 207 - RGO JQYI8Q JIFQ ATE 9L Ie° F76Q QI JIRRQl 98 e e Gag : AR 2aml
QS FRPAFR QI FIFR QG 98I 2262 AT AQ ARNEE FLIR-FV UG AALIQ AV Q1A AILIQ GIF6d @
AR Q9 R64 QIR G2 6991 QAHR QUG AR (1) 2ARE @V AIA GYA-RIZ- TRIS IS @ Q4 G2B
7168 629 6216 2T YA V6T 2I9IT: PIPET FEIHAUT RUASFES,

gae 9QQ 688 JIGR 2l @'41?

Options:

1) 20w @8 Free gdy feq FaaIcn a5ed)|

2) 2108E gRIHAL @RSl IR 0F ARTER GG g2AT
)
)

3) ABAIRYSR RACRI 12 FIQU DS AVAER RAIAR 6269
4) 21997Q 98 QIR G ARI6S AT AR RG]

Correct Answer: 4) 2I99eQ 98 Q9 G2Q ARI68 AT AR VAT

Candidate Answer: 4) 2067Q 98 QIR @9 ARIEH QIT 49 ARG
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QID : 208 - FIRYS A0/ UINER UGG IS° 9AQ AI’G ATIE F4Q 28R G2g | VA ARA AR AR
QIR QAR € ¢ 9 AdeI6a LINOIER ARR FR26eM| Y& ARWIF JEERG ALIQ Gl 67GIR Q1T 6QRYRI|
QNS gale ATHILER QELING SlF 2AL6AIT 2CARGA 699 KGRI AIR 6AIR dRLERI AIg 6511-6F1a!
Q541 96Q 62 YE FRRIAUG QIR 6QRYER| IR ] g 556 AT AACITIQ AVY 6TIRARYR |
604 5@ 9 9%Q 98 QUM FIVIFUER FEA FAQIG QI 626M @F AARIQ TG QTR 664
JERYAIER GRQ ARG 60T6M, 62 IF AEEY Y] AGFVIR A2 HAIVE F6M G° L A6Q FIRFIE AR
2ICRIOT R 62 BIF F26M 64, QIRFIGT el IR FRUVT FEARIER NEFR FAR 8QA1 | FIFGT AR
QARG gAY FER | ARA VR AF LHTER 6ARIRT AFRE 2591 AR SHIF ARG 69AS F6R, 651G QIR
2ICRIRD ZICAFR FEM | 21 4@ AALEAIG ACRIRS g, AF 2E°A 1Q° FHAG| AR ACKIRARIAANRE
QU6Q 2IFTE F6M @G 6ATCH FoR AR RS AT 629 AUIFER 6T AT FIG QY6
6QFIRFQR 67000 YQ APER AMII 69960 ANRIR ANY FARIG QI 626 IS° QLR FIPRIR IR
Qg QIS Jodl 96R | ARA VA 62¢Q 2IIFEQ 1T YICRINS I 92Q ATFG! R IS° 694N AFTICR
QAAY AREIIC 2ICRINT AU G IRIQ IR N2 QRVVAT FAES @Q IS Ye° AR &Ml |
IR 9F 699Q GIF FIRFIF OIQ ARIQ A YR 679IA 196 AR

AYICARER 69 919 el ‘Forced’ AFG AAIR 26S?
Options:

1) 9g49Q

2) QACIRR
3) Q64RG
4) QARG

Correct Answer: 3) Q680G

Candidate Answer: 2) Q#¢19Q

QID : 209 - FRYS FEGIG YRR AFF YS° §AQ AP ALIS JIQ ARQ UG | AVQ IRW VIR VESTR
QIR ZRAIR € ¢ 9 Adelea EIN0IER ARR FR26M| V& ARWIF JEERG ARIQ Gl 67GIA Q1T 6QRAMI|
QNG el ATUILER QELING SlF 2AL6AIT 2CARGA 699 KGRI AIR 6AISR FRLERI A1 6511-651a!
Q58I U6Q 62 VG FRRIAUG QI 6QRYER| IR G] g 556 AARATA AACITIQ AV 6TIRARYR |
664 50 9 9%Q 9F QAN QIVIFIER TEQAR KRAQIQ QI 626M @F AARIQ TR ATEM| 60¢]
JERYAIER GRQ ARG 68T6M, 62 IT ATEQ Y] AGFVIR AR HAIVE F6M NQ° L A6Q IR AR
2ICRISF FERI 62 BIF FTEM 64, QIATRT 12 AR QAT F6AIUER NELR AR F@A1 | FIFS1 FFR
QARG RIS AR | ARG AR T FTER EAIRTIGT A9RE AR AR NI I 6956 F6R, 631G QIR
2ACRIRR ZICAFR FEM | 421 4@ AAVCAIG ACRIRS M, AF 2E°A NQ° HAG| AR ACKIRARIAIANRE
QU6Q 2IFTE F6M @G 6ATCH Fo@ AR RS AT 629 AUIFER 6T LAT FIG AY6R!
62F19FQR 63000 YR APER AMII 69960 AR ANY FRRIG QI 626 I9° QLR FIPRIR IR
Qg QIS odl 96M | ARA AR 62GQ AUIFEQ IT LIRS 1@ Q24 ATRG! YR Q° 6Q4NIA AETICR
QAAY ZAREIIC 2ICRINE AU Y] IRIQ IR N2 QRVVIAT FAES ¢ TG Ye° A& &l |
QIR 9F 699Q GIF FIRFIF OIQ ARIQ A YRV 69GIA e AR

4@ QUI6ARA 69E 0 2 YUARNE'Q FARIG 6E?

Correct Answer: 4) AR
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Candidate Answer: 4) AQaQ

QID : 210 - FYRYS ARG/ UINER UGG I9° QAR I’ AIS FIQ 2RQ G2G | ATIQ ARA AR AR
QIFQ 2RAIR € ¢ 9 Adelea BIR0IER QR AG26R| Y& ARWIF AEERG AR Gl 63GIA Q1T 6QRAR|
QINIGT gaIr AUINER Q6LRG GIF AAREIT ACRFFR 638 AR AIR 6QIFF! FRYER 71 6F1A1-631al
Q58I U6Q 62 G TG QIR 6QRYER| IR R g 556 AARATA AACIIQ AAY 6TIRARAR |
664 5@ 9 9%Q 9F @AM FIVIAUER FEA FAQIG I 626N &§F AARIQ ATOHE QM| 664
JERUFIER QRQ ARG 6056R, 64 I8 JGRGY ¢ ACTIA A2 FAIVE F6M I9° YLl A6Q FINSIF AL
2ICRIOR R 62 Bl FF6M 67, QIRAIGT e IR FRAVT FERARIER NEFR PR 81 | FINGT AR
QFG gAY RER | ARA VIR AF FER EAINAINT AFRE 269! AN UG GG 69AS FER, 691G QIR
2I6RIRG ACAFR FEM | LI IR AATECAIT 2CARR I, A AT IG° JHRS| AR ACARFRINIANRT
QU6R AP A6 @F 627168 FaR AR IR AT 65GQ AUIF6R 62AIFA AT FIA AR
6QARNFFR 65003 Y] AP6R AR 69T6Q AARIQ ANY ARG QI 626R IG° F6LIR FIRRIA YIRVFTR
QQ QIF ol AEM | IRA VA 699 AUIFEQ 1T UICRIRY N Q8] ATRG! R NQ° 6Q4IQYIA AEIGR
QAOY 2AREII 2ICRINE AUERQ YR IRIQ IRIRERI N8I QRLLIE FI68 ¢ HIIG Ye° gIT ademl |
SIFQ 9@ 659 0IF AIRFIF 0IQ ALQ QI gYF 6991A 195 69RMI|

QINIG 6R6Q AF ACRIFAR JalF ANIAG IMITIQ FRCAREIER?
Options:
1) Q8RR
2) 9694

)
) < ~
3) Q64IR GIRQ
4) 593599l

Correct Answer: 4) 923-924l

Candidate Answer: 3) Q6cIa GIQa

QID : 211 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

She's not really / interested of going / to the party with me
Options:

1) She's not really

2) interested of going

)
)
3) to the party with me.
4) No Error

Correct Answer: 2) interested of going

Candidate Answer: 2) interested of going
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QID : 212 - Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully.

Please (wear trainers up) the gym, to avoid scuffing the floor.
Options:

1) wearing trainers in

2) wore trainers in

)
)
3) wear trainers in
4) No correction required

Correct Answer: 3) wear trainers in

Candidate Answer: 3) wear trainers in

QID : 213 - A sentence has been given in Active/Passive voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Passive/Active voice.

The teacher was disappointed with the girl's work.
Options:

1) The girl's work is disappointing to the teacher.

2) The girl's work will disappoint the teacher.
)
)

3) The girl's work disappointed the teacher.
4) The girl's work would disappoint the teacher

Correct Answer: 3) The girl's work disappointed the teacher.

Candidate Answer: 1) The girl's work is disappointing to the teacher.

QID : 214 - Select the word that fills in the blank correctly and completes the sentence
meaningfully.

does the train leave from Kachiguda Station?

Correct Answer: 2) When

Candidate Answer: 2) When
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QID : 215 - Select the word that fills in the blank correctly and completes the sentence
meaningfully.

Kiran really understands Chinese. Probably being in the language helps.
Options:

1) fluent

)
2) flavoured
3) flagrant
4) fragrant

Correct Answer: 1) fluent

Candidate Answer: 1) fluent

QID : 216 - Select the word that is closest in meaning (SYNONYM) to the word given below.
ESSENTIAL
Options:
1) superficial
2) indispensable
)
)

3) low-ranking
4)idle

Correct Answer: 2) indispensable

Candidate Answer: 1) superficial

QID : 217 - Select the word that is opposite in meaning (ANTONYM) to the word given below.
Throng
Options:

1) Silent

)
2) Assembly
3) Dislodge
4) Dispersion

Correct Answer: 4) Dispersion

Candidate Answer: 2) Assembly

QID : 218 - Select the word that is spelled correctly.
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Options:

1) Larincs

)

2) Laryinx
3) Larinks
4) Larynx

Correct Answer: 4) Larynx

Candidate Answer: 4) Larynx

QID : 219 - Select the most appropriate 'one word ' for the expressions given below.
Related on the father's side
Options:
1) Internal
2) Fraternal
)
)

3) Maternal
4) Paternal

Correct Answer: 4) Paternal

Candidate Answer: 4) Paternal

QID : 220 - Select the option that best expresses the meaning of the idiom or phrase given below.
‘See eye to eye’

Options:

1) To hit someone back

2) To be wise or cunning

3) To agree with someone

4) To talk to someone with gestures

Correct Answer: 3) To agree with someone

Candidate Answer: 3) To agree with someone

QID : 221 - At Secondary level, which of the following should not be of importance to a student?
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Options:

1) Reading periodicals, books and newspapers with understanding

2) Making simple statements through English

)
)
3) Using reference materials such as dictionaries, encyclopaedias, reference books
4) Composing independently and freely in writing and speaking

Correct Answer: 2) Making simple statements through English

Candidate Answer: 4) Composing independently and freely in writing and speaking

QID : 222 - What is defined as ‘a set of assumptions dealing with the nature of language, teaching
and learning’?

Options:
1) Approach
2) Technique
)
)

3) Method
4) Interaction

Correct Answer: 1) Approach

Candidate Answer: 1) Approach

QID : 223 - Which of the following is NOT a principle of Grammar-Translation method?
Options:

1) There is emphasis on writing and reading consequently

2) Rote learning is encouraged
)
)

3) Evaluation is based on the translation of texts
4) The second language is given more priority

Correct Answer: 4) The second language is given more priority

Candidate Answer: 3) Evaluation is based on the translation of texts

QID : 224 - Which one of these is a demerit of Grammar-Translation method?
Options:

1) Language learnt is different and away from real life situations

2) The teacher does not need to strive for accuracy

3) Translation of new words helps in better understanding by the student
4) The student’s comprehension can be easily evaluated by the teacher

Correct Answer: 1) Language learnt is different and away from real life situations
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Candidate Answer: 2) The teacher does not need to strive for accuracy

QID : 225 - Which type of selection of Structures of English Language does one mean when they
talk about Frequency?

Options:

1) The structures those are easy to learn

2) The structures which have a high rate of occurrence
3) The structures which are used frequently

4) The structures those are easy to teach

Correct Answer: 2) The structures which have a high rate of occurrence

Candidate Answer: 3) The structures which are used frequently

QID : 226 - Hat, bat, rat, mat: the grouping of these 4 words is called

Options:

1)

2) Structural
3) Phonetic
4) Lexical

Grammatical

Correct Answer: 3) Phonetic

Candidate Answer: 2) Structural

QID : 227 - When words are sequenced according to their meaning, it is known as
Options:

1) Semantic sequencing
2) Grammar sequencing
3) Lexical sequencing

4) Phonetic Sequencing

Correct Answer: 1) Semantic sequencing

Candidate Answer: 1) Semantic sequencing

QID : 228 - Which one of the following is an example of a four-part sentence pattern?
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Options:
1) Meet me at the cafe today.
2) | love to sing.

)
)
3) Rita is shopping.
4) Dogs bark.

Correct Answer: 2) | love to sing.

Candidate Answer: 1) Meet me at the cafe today.

QID : 229 - “What is your name?” — This is a type of
Options:

1) Exclamatory sentence

2) Declarative sentence

)
)
3) Interrogative sentence
4) Imperative sentence

Correct Answer: 3) Interrogative sentence

Candidate Answer: 3) Interrogative sentence

QID : 230 - Which of the following is a disadvantage of Structural Approach?
Options:

1) Importance is given to speech

2) Accuracy of language is improved by the controlled practice of structures

)
)
3) English is taught with meaningful context
4) The students' first language is not used in either learning or teaching

Correct Answer: 4) The students' first language is not used in either learning or teaching

Candidate Answer: 2) Accuracy of language is improved by the controlled practice of
structures
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QID : 231 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Avul Pakir Jainulabdeen(A.P.J.) Abdul Kalam, (15 October 1931 — 27 July 2015) was an
aerospace scientist who served as the 11th President of India from 2002 to 2007.He was born
and raised in Rameswaram, Tamil Nadu and studied physics and aerospace engineering. He
spent the next four decades as a scientist and science administrator.

Kalam was elected as the 11th President of India in 2002 with the support of both the ruling
Bharatiya Janata Party and the then-opposition Indian National Congress. Widely referred to as
the "People's President", he returned to his civilian life of education, writing and public service
after a single term. He was a recipient of several prestigious awards, including the Bharat Ratna,
India's highest civilian honour.

According to the passage, Abdul Kalam was elected as the President of India in 2002 with the
support of which of these?

Options:

1) Bharatiya Janata Party and the then-opposition Indian National Congress
2) Bharatiya Janta Dal

3) Telugu Desam Party

4) Bahujan Samaj Party

Correct Answer: 4) Bahujan Samaj Party

Candidate Answer: 1) Bharatiya Janata Party and the then-opposition Indian National
Congress

QID : 232 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Avul Pakir Jainulabdeen(A.P.J.) Abdul Kalam, (15 October 1931 — 27 July 2015) was an
aerospace scientist who served as the 11th President of India from 2002 to 2007.He was born
and raised in Rameswaram, Tamil Nadu and studied physics and aerospace engineering. He
spent the next four decades as a scientist and science administrator.

Kalam was elected as the 11th President of India in 2002 with the support of both the ruling
Bharatiya Janata Party and the then-opposition Indian National Congress. Widely referred to as
the "People's President", he returned to his civilian life of education, writing and public service
after a single term. He was a recipient of several prestigious awards, including the Bharat Ratna,
India's highest civilian honour.

According to the passage, Abdul Kalam was widely referred to as which of these?
Options:

1) "Best President”

2) "People's President"

)
)
3) "First President”
4) "Favourite President”

Correct Answer: 2) "People's President”

Candidate Answer: 2) "People's President"”
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QID : 233 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Avul Pakir Jainulabdeen(A.P.J.) Abdul Kalam, (15 October 1931 — 27 July 2015) was an
aerospace scientist who served as the 11th President of India from 2002 to 2007.He was born
and raised in Rameswaram, Tamil Nadu and studied physics and aerospace engineering. He
spent the next four decades as a scientist and science administrator.

Kalam was elected as the 11th President of India in 2002 with the support of both the ruling
Bharatiya Janata Party and the then-opposition Indian National Congress. Widely referred to as
the "People's President", he returned to his civilian life of education, writing and public service
after a single term. He was a recipient of several prestigious awards, including the Bharat Ratna,
India's highest civilian honour.

According to the passage where was A.P.J.Abdul Kalam born?

Options:

1
2
3
4

Rameswaram, Karnataka
Rameswaram, Uttar Pradesh
Rameswaram, Tamil Nadu
Madurai, Tamil Nadu

~— — ~— ~—

Correct Answer: 3) Rameswaram, Tamil Nadu

Candidate Answer: 3) Rameswaram, Tamil Nadu

QID : 234 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Avul Pakir Jainulabdeen(A.P.J.) Abdul Kalam, (15 October 1931 — 27 July 2015) was an
aerospace scientist who served as the 11th President of India from 2002 to 2007.He was born
and raised in Rameswaram, Tamil Nadu and studied physics and aerospace engineering. He
spent the next four decades as a scientist and science administrator.

Kalam was elected as the 11th President of India in 2002 with the support of both the ruling
Bharatiya Janata Party and the then-opposition Indian National Congress. Widely referred to as
the "People's President”, he returned to his civilian life of education, writing and public service
after a single term. He was a recipient of several prestigious awards, including the Bharat Ratna,
India's highest civilian honour.

According to the passage what did A.P.J.Abdul Kalam study?
Options:

1) Chemistry and mechanical engineering

2) Physics and mechanical engineering

)
)
3) Chemistry and aerospace engineering
4) Physics and aerospace engineering

Correct Answer: 4) Physics and aerospace engineering

Candidate Answer: 4) Physics and aerospace engineering
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QID : 235 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Avul Pakir Jainulabdeen(A.P.J.) Abdul Kalam, (15 October 1931 — 27 July 2015) was an
aerospace scientist who served as the 11th President of India from 2002 to 2007.He was born
and raised in Rameswaram, Tamil Nadu and studied physics and aerospace engineering. He
spent the next four decades as a scientist and science administrator.

Kalam was elected as the 11th President of India in 2002 with the support of both the ruling
Bharatiya Janata Party and the then-opposition Indian National Congress. Widely referred to as
the "People's President", he returned to his civilian life of education, writing and public service
after a single term. He was a recipient of several prestigious awards, including the Bharat Ratna,
India's highest civilian honour.

According to the passage, which of these were awarded to A.P.J.Abdul Kalam?

Options:

1
2
3
4

Bharat Ratna

Nobel Prize

Best President award
Arjuna Award

~— — ~— ~—

Correct Answer: 1) Bharat Ratna

Candidate Answer: 1) Bharat Ratna

QID : 236 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

One day, in a moment of desperation, | switched it off and unplugged it. It was a moment of rage
over the way the idiot box had engulfed our family’s lives, particularly our married life. We decided
to not switch it on for days and anyone who did so would be punished by the remaining two of us.
We travelled for a week immediately after this experiment to places that had no TV at all. This
helped us get de-addicted, and we were thankful for it. Today, a year later in New Delhi, we have
been living without the idiot box. We recently completed our first anniversary in ‘No TV’ mode.
The benefits of living without a TV are many. It leaves a lot of time to spend with the family. It
helps save money as not watching advertisements save us from the temptation to buy stuff. It
also helps in better health as there is no more late-night, dark-night TV viewing. Finally, it helps us
in being sane. No information or scripts overload. Newspapers have virtually replaced the news
channels and classic, fiction novels are a better substitute to those fictitious daily soaps. The
cartoon channels?! Oh! She goes to school now and then reads children’s books.

What helps the writer to maintain her sanity?
Options:

1) Sleeping on time

2) Seeing her child read books

)
)
3) Having a better married life
4) Freedom from information overload
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Correct Answer: 4) Freedom from information overload

Candidate Answer: 4) Freedom from information overload

QID : 237 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

One day, in a moment of desperation, | switched it off and unplugged it. It was a moment of rage
over the way the idiot box had engulfed our family’s lives, particularly our married life. We decided
to not switch it on for days and anyone who did so would be punished by the remaining two of us.
We travelled for a week immediately after this experiment to places that had no TV at all. This
helped us get de-addicted, and we were thankful for it. Today, a year later in New Delhi, we have
been living without the idiot box. We recently completed our first anniversary in ‘No TV’ mode.
The benefits of living without a TV are many. It leaves a lot of time to spend with the family. It
helps save money as not watching advertisements save us from the temptation to buy stuff. It
also helps in better health as there is no more late-night, dark-night TV viewing. Finally, it helps us
in being sane. No information or scripts overload. Newspapers have virtually replaced the news
channels and classic, fiction novels are a better substitute to those fictitious daily soaps. The
cartoon channels?! Oh! She goes to school now and then reads children’s books.

The writer mentions all the following benefits of not watching TV except?
Options:

1) Spending time with family

2) Better health

3) No longer fights for the remote
4) Saves money

Correct Answer: 3) No longer fights for the remote

Candidate Answer: 3) No longer fights for the remote

QID : 238 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

One day, in a moment of desperation, | switched it off and unplugged it. It was a moment of rage
over the way the idiot box had engulfed our family’s lives, particularly our married life. We decided
to not switch it on for days and anyone who did so would be punished by the remaining two of us.
We travelled for a week immediately after this experiment to places that had no TV at all. This
helped us get de-addicted, and we were thankful for it. Today, a year later in New Delhi, we have
been living without the idiot box. We recently completed our first anniversary in ‘No TV’ mode.
The benefits of living without a TV are many. It leaves a lot of time to spend with the family. It
helps save money as not watching advertisements save us from the temptation to buy stuff. It
also helps in better health as there is no more late-night, dark-night TV viewing. Finally, it helps us
in being sane. No information or scripts overload. Newspapers have virtually replaced the news
channels and classic, fiction novels are a better substitute to those fictitious daily soaps. The
cartoon channels?! Oh! She goes to school now and then reads children’s books.

For how long have the writer’s family not been watching TV?
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Options:

1) 6 months
2) 12 months
3) 3 months
4) 1 month

Correct Answer: 2) 12 months

Candidate Answer: 2) 12 months

QID : 239 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

One day, in a moment of desperation, | switched it off and unplugged it. It was a moment of rage
over the way the idiot box had engulfed our family’s lives, particularly our married life. We decided
to not switch it on for days and anyone who did so would be punished by the remaining two of us.
We travelled for a week immediately after this experiment to places that had no TV at all. This
helped us get de-addicted, and we were thankful for it. Today, a year later in New Delhi, we have
been living without the idiot box. We recently completed our first anniversary in ‘No TV’ mode.
The benefits of living without a TV are many. It leaves a lot of time to spend with the family. It
helps save money as not watching advertisements save us from the temptation to buy stuff. It
also helps in better health as there is no more late-night, dark-night TV viewing. Finally, it helps us
in being sane. No information or scripts overload. Newspapers have virtually replaced the news
channels and classic, fiction novels are a better substitute to those fictitious daily soaps. The
cartoon channels?! Oh! She goes to school now and then reads children’s books.

What according to the writer is better than watching daily TV serials?
Options:

1
2
3
4

Novels
Newspapers
Internet
Family time

~— — ~— ~—

Correct Answer: 1) Novels

Candidate Answer: 4) Family time
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QID : 240 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

One day, in a moment of desperation, | switched it off and unplugged it. It was a moment of rage
over the way the idiot box had engulfed our family’s lives, particularly our married life. We decided
to not switch it on for days and anyone who did so would be punished by the remaining two of us.
We travelled for a week immediately after this experiment to places that had no TV at all. This
helped us get de-addicted, and we were thankful for it. Today, a year later in New Delhi, we have
been living without the idiot box. We recently completed our first anniversary in ‘No TV’ mode.
The benefits of living without a TV are many. It leaves a lot of time to spend with the family. It
helps save money as not watching advertisements save us from the temptation to buy stuff. It
also helps in better health as there is no more late-night, dark-night TV viewing. Finally, it helps us
in being sane. No information or scripts overload. Newspapers have virtually replaced the news
channels and classic, fiction novels are a better substitute to those fictitious daily soaps. The
cartoon channels?! Oh! She goes to school now and then reads children’s books.

What did the writer’s family do to wean themselves away from TV?
Options:

1) They went to a de-addiction centre.

2) They got themselves a transfer to a place where there was no TV.
3) They switched to reading.

4) They travelled to places that had no TV.

Correct Answer: 4) They travelled to places that had no TV.

Candidate Answer: 2) They got themselves a transfer to a place where there was no TV.

QID : 241 - Some students of Class Il face difficulty in the addition of two-digit numbers involving
‘carrying over’. The reason behind these problems faced by them is lack of

019 698Q @8 daIe ‘ARl 8ES 2l 996 Q98 A°HIQ 640 FARIER AU qﬁq@‘" ABI &
QQQQIQ@Q QYR 6991 QIQAS AYER Q 2 2N |

Options:

1) understanding of regrouping process

g4 606 g@el 9l aiat

2) understanding of the importance of zero

JRa gQQ 98! Al

3) interest in mathematics

Q§ioea alge

4) understanding of the difference between the face value
Jea Gy A116Q ARy QIR QIR

Correct Answer: 1) understanding of regrouping process
g4 909 gaal 9el AR

Candidate Answer: 2) understanding of the importance of zero
R 9o g3l Al
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QID : 242 - Which of the following is/are the techniques for transacting mathematics curriculum?

I. Drill and practice
Il. Play way
Ill. Assignments

A0 FRIQ 6296 GI8ER TI0IFFR 6RSERY AR 6RHR 26T ?

l. @R Q° 2AQ41Ra
1. 68198
. ZAREA]

Options:

1) land I
NI
2)Iland Il
RG]
3)landlll
IR

4) 1,1l and 11l
[, 11 ge° 1l

Correct Answer: 4) [l andlll
[, 11 1l

Candidate Answer: 1) I and Il
el

QID : 243 - Most students of Class IV think that multiplication of two numbers always results in a
number which is bigger than both the numbers. How will you show that it is not always correct?

IV 6980 62805 SIE1 (165 @a& 69 96 A°HIQ JEIRQ TP AR IR0 AR TRITR §9 Al R@K
QIR 0IQ 9P 2T FBRIER 6A6HAER 64 NG AR A0R G627

Options:

1) By showing the multiplication algorithm of two decimal numbers

Q5 QER A°HIQ JEIP INETIRQQIC 6QEH I

2) By showing the multiplication of two decimal numbers on a grid paper

g0 RI996a 9F Qafie A°HIQ gEaal 696!

3) By solving the multiplication algorithm of one whole number and a fraction on a number line
@6 Q8 AHIQ FEG INETIRAAIF 9e° IQT A°FY 6aHIER QGG ATRIIT F6Q

4) By showing it through repeated addition of numbers

A QAR A°6ARR FUIFER 4G 6QslIg

Correct Answer: 2) By showing the multiplication of two decimal numbers on a grid paper
e IUFEQ 95 QSR A°HMQ IR 69

Candidate Answer: 3) By solving the multiplication algorithm of one whole number and a
fraction on a number line
@6 QS LHIQ FES INETIRRIT IS IRT A°HY 6QHIER QTS AANUIF K6
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QID : 244 - What is the full form of NCTM?
NCTMa g§iga @482
Options:

1) National Council of Teachers of Mathematics
F96Q FG1A FAGR AT TOQ

2) Nodal Council of Teachers of Merit

IR 6QIFIR FIAFR AT 671

3) National Court of Technique Mathematicians
6000 A9eReq RIG1L AR

4) National Council of Trained Mathematicians
JE80 08eTea FIPIL RIQRR

Correct Answer: 1) National Council of Teachers of Mathematics
JEeQ FIG1Y FIRGR AT ToQ

Candidate Answer: 4) National Council of Trained Mathematicians
JI3C 06PEQQ R RIRGR

QID : 245 - assessment strategies can be used to make connections of mathematics with
real-life and promote interdisciplinary.

IR 6RIERYER QLR 18R QAIGTEQ GIEIeR ARG GUR ARG 9G° VYR ARG @GS
IR QUL 2RI

Options:

1) Checklist, survey and project

690AY, A6 9e° gae

2) Oral test, field trip and drill worksheet
6g@ A, TRED I9° @R GIRde

3) Field trip, survey and project

TR 89, A6@ e° gee

4) Checklist, field trip and oral test
600, TR G 9Q° 6¢1ga A

Correct Answer: 3) Field trip, survey and project
0R 59, 968 e gee

Candidate Answer: 2) Oral test, field trip and drill worksheet
64Nlg@ a1l TRED e° @@ GIade

QID : 246 - The process standards for mathematics are

Jdieq gagl AIegee |
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Options:

1) problem-solving and connections
A AR 4Q° Q°6dISl

2) reasoning and proof

93 \9e° gaid

3) communication and representations
64I9lEdIol NQ° QULIAR!

4) All options are correct

Qra Gag A0

Correct Answer: 4) All options are correct
A0 a7 A0Q

Candidate Answer: 4) All options are correct
A0g Gag A0

QID : 247 - The chapters in the NCERT textbook of mathematics of Class-IV have titles like “The
Junk Seller”, “Trip to Bhopal”, “The Way the World Looks”. This shift has been done to

IV 698a 996@ NCERT QI0Ig2a6Q 2RIAGE6R "@ @& 63RQ", "6aidip 98", "a 6@ @ @i pg" 9@
S1de Q881 9T 29A6Q 6@ AAULIRAIRR

Options:

1) make it interesting by connecting it with everyday life
2| 6T90F F19R6Q AIGTER A°YS 96 ARTS1A A0

2) interrelate the concept of junk and travelling

S NS° YAIR UGG 2UBAAGTE F0g

3) give detail information about the seller and bhopal
Q690! 9e° 68197 AR ILIRG G2 GaIg

4) help the students to understand the other subjects also
MG FROGFe 9RQlea JIdia ALINC! 2ag

Correct Answer: 1) make it interesting by connecting it with everyday life
92l 6590 F19R6Q AFER YD @6 AKTIC 20

Candidate Answer: 1) make it interesting by connecting it with everyday life
2| 6T90F F19R6Q AIGTER A°YS 26 ARFS1A A0

QID : 248 - Which of the following is the characteristic of the induction method?

A9 FRIQ 6205 2SR ARGR 679QY?
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Options:

1) Analysis of a theory

@G oay S6a84

2) Establish a fact through experiments

AR AJIFIER QT AR QAR @Qg

3) From many examples to general principle
269R RLLQE @ AR 16 adis

4) From a general principle to a particular problem
@ ARIQE AAY @ 99 FeQ QA4 adys

Correct Answer: 3) From many examples to general principle
2690 AL @ AR 16 adis

Candidate Answer: 4) From a general principle to a particular problem
4R ARIQY A @ IR AR} Al QS

QID : 249 - The section 'Practice Time' included in different topics of mathematics textbooks aims
at which of the following?

I. Providing fun and enjoyment to students
Il. Providing extended learning opportunities

79 FRIQ 62056a FI8eQ TI0IYLRR F6R TR ALHD 'AURMIA AN FRAIST AQY?

. SQIElg A9 9G° 2GR Ad6RIS KAIR
II. @80 JRIQ Y69 918 @

Options:

1) Only |

629w |

2)Only 1l

6Qaw Il
3)Bothland Il

[ 9Q° Il Q@

4) Neither | nor Il
| & g6@ Q1 @l Il

Correct Answer: 2) Only Il
6@RQw Il

Candidate Answer: 1) Only |
6Rew |

QID : 250 - Which of the following is not required to be learned as a pre-number concept to
develop the skill of counting among children?

30 FRIQ 6068 TAIRIREA FRIEA AR @FS! GRIFR IR JIR-A9Q I FAIRER JIQ AT NSS! AT
?
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Options:

1) Reciting number names randomly
4604 A6Q QTR QI 2R !

2) Seriation

6QQ21IAR

3) Grouping

QI FIRNIQE

4) No option is correct

6a19d Sag A0 g6<

Correct Answer: 1) Reciting number names randomly
604 QIR QIR FIE1 2IQE ¥Q

Candidate Answer: 4) No option is correct
6a19d Qo A0@ g6€

QID : 251 - From a pack of candies, 3/8 of the total candies are given to Rohan and 4/5 of the
remaining candies are given to Sohan. If finally 30 candies are left, then initially how many
candies were there in the packet?

Q@ QYIGQ QUIQ 0IQ 67116 QYIS GEe 3/8 6QULIR § TG I° QIR QU8 gEe 4/5 6QIRing FrIgYI A&
AUQ6A 60 30 G QI PR Q@ CIN, 969 JIAITIRRIES UIERT 6Q 626010 @1IE qE@ gmI?

Options:

1
2) 240

) 360
)
3) 180
)

4) 100
Correct Answer: 2) 240

Candidate Answer: 2) 240

QID : 252 -

How many % are there in 3%?

31 Sagastan 1 2la?
5 3
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Options:

Correct Answer: 3) 10

Candidate Answer: 3) 10

QID : 253 - If a/b = 1/3, then the value of [(a — b)/(a + b)] is .
QG a/b = 1/3 99,6069 [(a — b)/(a + b)]a gAY [

Options:

—

w

o=
|
—
)
N

Correct Answer: 2) -1/2

Candidate Answer: 2) -1/2

QID : 254 - Which of the following is that least number which is completely divisible by 12, 15 and
21?

Q¢ A1RIER 699G ARG AW QIR 12, 1599° 21 QIAI AgE FQIRG?

Options:

Correct Answer: 2) 420

Candidate Answer: 2) 420

QID : 255 - What is the value of (256)°7%?

(256)°75 @ Iy 6969?
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Options:
1) 32
2)64
3) 36
4) 28

Correct Answer: 2) 64

Candidate Answer: 2) 64

QID : 256 - If the length and breadth of the rectangle are 8 cm and 6 cm, then what is the value
(in cm) of diagonal of rectangle?

2AINSEVSTR 656 3 98 9@ 8 611 G 6 627 §9,606% ALGEIFTR 0U@ Q FJRY (62F6Q) 66S?
Options:

1) 10
2) 11
3) 12
4)13

Correct Answer: 1) 10

Candidate Answer: 1) 10

QID : 257 - If the volume of a hemisphere is 19404 cm3, then what is the radius (in cm) of a
hemisphere?

A6 99T 60IRRIQ 2A0R F9 19404 627, 636Q YT 6AIRRIQ QIAR (62F6R) 606672

Options:

Correct Answer: 2) 21

Candidate Answer: 2) 21
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QID : 258 - If the radius of a sphere and a hemisphere are in the ratio of 3 : 1 respectively, then
what is the ratio of their volumes?

AG 99T 60199 9Q° 60IRRIA QIAR ARAIFEA 3 : 1 AQUIGR §4 G6Q GIR AAFFR AGAIC 6687
Options:

1)18 : 1

2)54:1

3)27:1

4)3:1

Correct Answer: 2) 54 :1

Candidate Answer: 4) 3:1

QID : 259 - If the diagonal of the square is 12 cm long, then what is the value (in cm) of side of
the square?

QdleRgta 6t 9@ 12 627 14 g9, 666@ QUIRIR U6 (62F6R) MY 62667

Options:

Correct Answer: 4) 612

Candidate Answer: 4) 62

QID : 260 - If 3y, (2y + 15)/3 and 4y represents the angles of a triangle, then what is the value (in
degrees) of y?

Q& 3y, (2y + 15)/3 NQ° 4y QG GREQ 6149 AALAL F6Q, F6Q y @ IR (356Q) 69687
Options:

1) 525/23

2) 515/23

3) 133/5

4)67/5
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Correct Answer: 1) 525/23

Candidate Answer: 1) 525/23

QiD : 261 -
If AB||CD and EF||GH, then what is the value
(in degrees) of LPOD?

QG AB||CD 4e° EF||GH, eiges ~POD @ g
(Gol16Q) 6@e6?

E G
P
PN
105°
C 2 D
F H
Options:
1) 70
2)75
3)80
4) 85

Correct Answer: 2) 75

Candidate Answer: 2) 75

QID : 262 - What is the value (in degrees) of each interior angle of a regular polygon having 16
sides?

Qafie 9geea 16 § QIgY® got dgeaa 6R165a Aml (§96) 6066?
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Correct Answer: 3) 157.5

Candidate Answer: 2) 153.5

QID : 263 -
In a parallelogram EFGH, what is the value
(in degrees) of ~AFHG?

Agisalie EFGH €9, Z/FHG a 1o (§4/16Q) 60667

E F
- one
90

G H
Options:
1) 30
2)50
3)70
4)90

Correct Answer: 4) 90

Candidate Answer: 4) 90

QID : 264 - What is the sum (in degrees) of all the interior angles of a polygon having 20 sides?

20 QI9Y® QZRFQ AP UYIAQ 6R169Ga AN (6569) 60607
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Options:

1) 3240

2) 3280

3) 3320

4) 3360
Correct Answer: 1) 3240

Candidate Answer: 1) 3240

QID : 265 - If a tangent is drawn to a circle, then how many times it will touch the circle?

9@ 6@16d ATAQ IR YRR ARS FAIF, 696Q 1T 6R6RAR QAT A KEQ?

Correct Answer: 2) One

Candidate Answer: 2) One

QID : 266 - In a certain code language, ‘ROMAN’ is written as ‘181513114’. What is the code for
‘NIGER’ in that code language?

—~ ~=<

QG G0 621e QFI6Q, ‘ROMAN’ ‘181513114’ @AIQ6Q 6m¢l N | 6069 69 621¢ VA ‘NIGER’ @
6QI% XE 629 ?

Options:
1) 1497519
2) 1498518
)
)

3) 1497518
4) 1597519

Correct Answer: 3) 1497518

Candidate Answer: 3) 1497518
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QiD : 267 -
How many triangles are there in the given figure?

doa §65en 6260 Guw 218

Options:

Correct Answer: 3) 10

Candidate Answer: 3) 10

QID : 268 -
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The bar chart given below show the number of
pen delivered to & shops of a town by a
wholesalers.

The number of pens delivered in a particular
shop represented as a percentage of total
number of pens delivered to all the 8 shops by
the wholesaler.

F0 998 Q0 915060 IERIGe U S FIel
IEE €990 8 T 6UIRIRe QSRS 9999l G568l
diaIan A0eRIgEe 8 T 6aIRIRa ae3Ie A3 A1
ean @a Jaeee gffyg @ea e@ad §oe
SRIRIGES AP B FRE @PE

15 19

15100
i 5
3'” HHHH.HI
A E C D E G H

Shops /cqigi

MNumber of pens /
EFE RIS 9PEN
]
=1

If the number of pens delivered to shop A are 2200, then what are the number of pens delivered
to shop C?

6QIRIR A 6Q FERE FA ARIQ A°HY AT 2200 2V, 666Q 6QIRIe C 6Q AARAUL A FRVIQ A°HY ERER?
Options:

1) 1000

2) 1100

3) 1050

4) 1150

Correct Answer: 2) 1100

Candidate Answer: 2) 1100
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The bar chart given below show the number of
pen delivered to 8 shops of a town by a

wholesalers.

The number of pens delivered in a particular
shop represented as a percentage of total
number of pens delivered to all the 8 shops by

the wholesaler.

F6 998 9N SI0E0 JERIRe 9 JISHER =

@6 9996 8 7 (IR dIla 95RaIe f6al

PRI ARTVALGE 8 T EAURITO ARSI @ §6IT
Fefe @ Faeee 9fRye wea emad §9e

ewlmltes daEe® ael @t @ve|

35 - m

25 A
15

Number of pens /
S RIS 9PN
]
=1

15

15 1 10

10 - H

s {1l | r
0 [1
AOH D E

Shops / QG

.

I Ow

What is the ratio of number of pens delivered to shop C and number of pens delivered to shop D?

6Q1R19 C 60 G008 91l ARFIQ A°HY NS° 6QIRIF D 6@ AARAUL 99 @RIIQ A°HIR QIS 69667

Options:

1)1:3

Correct Answer: 1) 1:3

Candidate Answer: 1) 1:3
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QID : 270 -

The bar chart given below show the number of
pen delivered to 8 shops of a town by a
wholesalers.

The number of pens delivered in a particular
shop represented as a percentage of total
number of pens delivered to all the 8 shops by
the wholesaler.

F¢1 998 Q0 5060 dERRe T UGas gIel
e 9990 8 & 6916190 DIHe 9999l G6al
YFIRG d09QILgE 8 T cUIRIna dae0Ie 99l SRS
FRaR @A Faeea gfhyg @ee ewad Fda
ETIRIREE ARTR 6 PHE G|

35 - m

25 A
15 15

13 1 10
10 A
3 HHHH
HBCDE ]

Shops / QG

Number of pens /
S RIS 9PN
]
=1

I:!"-‘"

If total number of pens delivered to all the given shops are 14000, then what are the number of
pens delivered to shop B?

938 go@ QA2 6QIRIQ ARQQIT @Al @RFIQ A°E 14000 9, 6669 B 6Q1RIFE6Q AL @4l SRR A°6Y
6@6%7?

Options:
1) 4600
2) 4900
3) 4400
4) 4500

Correct Answer: 2) 4900

Candidate Answer: 2) 4900

QID : 271 - Which of the following is not an assessment paradigm?

FANYS AUQ 69T JRIFAR VIS GEL ?
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Options:

1) Assessment of learning
dgQla gnIIee

2) Assessment for learning
JYRN AR JRUIFR

3) Assessment about learning
AGQl FFEQ AU

4) Assessment as learning
dgQl Qa6 RUIEe

Correct Answer: 3) Assessment about learning
dgel F8A6Q ISR

Candidate Answer: 2) Assessment for learning
YRl AR GRYIFR

QID : 272 - From the following forces, which one influences the life and nature of individual

behaviour?
RIS AR 6998 QIBA F1RR, MR G P § IAITG @6Q ?
Options:

1) Moral

6569

2) Cultural

ARG

3) Emotional

2I6Qe gQdl

4) All options are correct
aQ Geg 09

Correct Answer: 4) All options are correct
QQ Qag 0@

Candidate Answer: 4) All options are correct
QaQ Geg 09

QID : 273 - Which of the following is not the importance of environmental studies?

—~ =~ v

RGO FRIQ 62% AR6IE 2RIAG @ F12] AIF ?
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Options:

1) To know the more sustainable way of living

F1RQ YIIR FARIQ 2R FABQ QA RIS

2) To know the inter relation between organisms in population and communities
QLG B AYQAEQ PR AR 1UER 2IBBAHSD qQ RIS

3) To use natural resources more efficiently

JI9Ee ARG AR QIRGIQ AL RACKIS *QQ!

4) To create the conflict between the natural and man - made resources

gI9de 6 AIeQ 576 Aqe Aea 92 98 @dal

Correct Answer: 4) To create the conflict between the natural and man - made resources
gI9de 6 AIeQ 576 AqR Aea g2 98 @dal

Candidate Answer: 4) To create the conflict between the natural and man - made resources
969 6 AI9e 576 age Fea 99 8 *aal

QID : 274 - Group discussion is example of which of the following type of co-curricular activities?

Q72 ACRIGF FARYS FRIQ 699 IR AL-A0YFA TR Q QLG 266 ?
Options:

1) Physical development
6QGe GRI4

2) Civic development
Aol Gl

3) Cultural development
AYER 14

4) Social development
AT FRIS

Correct Answer: 4) Social development
AANTR GRIS

Candidate Answer: 1) Physical development
6QI0R Gald

QID : 275 - The word ‘Environment’ is derived from a word. The origin of that word is

‘AA6RE’ F9 U@ FI9Q AGE 62IAE | 69T 90 Q R 69 |
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Options:

1) Latin
QTR

2) Greek
e

3) French
U

4) ltaly
QO Im1

Correct Answer: 3) French
Q!

Candidate Answer: 3) French
U

QID : 276 - Which of the following statement is correct?
FIRYS FRIQ 696 ARE A0 26T ?
Options:

1) The real purpose of summative assessment is to compare the progress of children
AL IR Q @ A6 6208 TRIFAINE AJIEQ YIGA 0! @QQ!

2) The formative assessment must be used for diagnostic purpose

2IRRS QIR JORIIR JRIFE FFIRIR QA6KIS FIFS A5

3) The formative assessment must be used for reporting progress

996 AFIeIa A6QIT 990 AIR JORINR AT Q AU6KIS @D /5

4) The summative assessment must be conducted through writing mode only

QS RIASIQE 6297 AYS AIIFIER KAUTE QBS

Correct Answer: 4) The summative assessment must be conducted through writing mode only
QLS RIASIAE 6897 AYS AIIFIER KAITG QFS

Candidate Answer: 1) The real purpose of summative assessment is to compare the progress
of children
QAAE RIS Q R Q6REY 6208 IR FIEQ JAITa YAl @AQl

QID : 277 - How would a primary teacher effectively assess her students of class IV on the topic
“Scarcity of Water™?

“FRQ ANIS” FFA6R 968 YIAFR FAR 992 6941Q GIF BIGRIGT FIRG FRYS NIER @A GRIFE FRES ?

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




10/6/2019 Odisha Teacher Eligibility Test
Options:

1) Conducting a written test on the above topic

RQUACAB TFL QAEQ IR NS AV KR

2) By finding out how they have started saving water in their day-to-day life
{ GEO6Q IRIR 64 6ACER TRQA 6TRLR F1RRER TR AKY FAQ QR FQEE

3) Organising a poster making activity on water conservation

AR °QTE AA6Q IR 6JINQ FRIRRIQ Q1LY ZCLIFR [AQ!

4) Asking children to write slogans on saving water

IR ABE RACA FIQI 6RYIQ TRIAINT LAl

Correct Answer: 2) By finding out how they have started saving water in their day-to-day life
{ GELEQ IOIQ 64 6Q7ER TRQ 6TLR F1QA6Q BRQ AKY GAQ 2R FQET

Candidate Answer: 2) By finding out how they have started saving water in their day-to-day life
{ GHLEQ IR 64 6AFNER TRA 6T F1RAEQ BRQ KA FAQ 2R FQET

QID : 278 - A class V teacher and her students each grew a rajma plant in their respective pots.
Every two days they checked its length and noted it. After 3 weeks, all of them depicted their
results through graphs. The process skills being emphasised in the tasks are

B 654110 F668 FFR G Gl FIFBIG] ClIER GF T8 UIGER IR QR Q FIAI REIAER | IG R 76
6271168 IZIQ A AIT6R 6 9RIg FT6R | 3 AYIL U6Q AFEL AT FARIFCR 67T TAGIT QFIRER |
@ FURRINER JQQ GaIKIRQ! 6alam daal 26% |

Options:

1) hypothesising and inferring
aA0eaRl B 2QAIR

2) predicting and inferring
gaIgaIe B AQAIR

3) calculating and predicting
qERN 6 GRIGAIR

4) measuring and communicating
AIQI 8 6QlIGIEQI

Correct Answer: 4) measuring and communicating
ARl 8 6QIGNELAIS

Candidate Answer: 4) measuring and communicating
AIdal 8 6QIGI6LIS!

QID : 279 - EVS is an integration of

QA QNG IR1QQE 26T |
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Options:

1) ecology, virology and science

AR6RE TR, ROIE AFIBID TRIQ AUAR 6 TRIQ

2) science and social studies

TRIF 6 ACIGR USSR

3) science, social studies and environmental education
ARIQ, AIGR 2UAL 8 AT JSl

4) environmental science and social studies

A6 AFIRNA TRIR B ACNGS 2GR

Correct Answer: 3) science, social studies and environmental education
GRIQ, AT YA} @ AREERTS S

Candidate Answer: 3) science, social studies and environmental education
QRIF, ACIGR UGS B AAERIFES Fgll

QID : 280 - Which of the following is a projected aid?
FARYS ORI 69T IR AFAIRS ARG AARAE 216G ?
Options:

1) Bulletin Board

Q6RTR 6Q1E

2) Overhead Projector

2R 99Q 58 QQYIF Q¢ 2IRIAEA YIS @Gl 9]

3) Model

cleem

4) Flannel Board
JI6AM 6916

Correct Answer: 2) Overhead Projector
2R J9Q 58 QQUIF Q¢ IRIAEA YIS @A 9

Candidate Answer: 2) Overhead Projector
4R J9Q 58 RQUIF Q¢ IRIREA Y6AUE @RI 9

QID : 281 - In which year, modern Odisha was born?
ARYAR BBEIA G 629 T6R 62RAYM ?

Options:

1) 1947

2) 1936

3) 1919

4) 1909

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




10/6/2019 Odisha Teacher Eligibility Test

Correct Answer: 2) 1936

Candidate Answer: 2) 1936

QID : 282 - Talcher in Odisha is famous for

634169 AIREER QI gae |
Options:

1) Iron Ore Mine
6mle §idie aQldl Wd
2) Petroleum
6969IR

3) Gold Mine

el §é

4) Coal Mine
6 ]

Correct Answer: 4) Coal Mine
6 ]

Candidate Answer: 1) Iron Ore Mine
emle ¢die Al §d

QID : 283 - Under which Article of the Indian Constitution, Untouchability is abolished in India?

QIAGTE AR 699 AIA AL AUABEA AFHIG! Q AERL FAIIRE ?
Options:

1) Article 15
Al 15
2) Article 16
Il 16
3) Article 17
Al 17
4) Article 18
il 18

Correct Answer: 3) Article 17
Al 17

Candidate Answer: 3) Article 17
]l 17
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QID : 284 - Which was the first state in India to establish Panchayati Raj?

QIAGER JEIAGAIF Q AR REAQ! JAIF UM 624G IR ?

Options:

1) Odisha

6@l

2) Rajasthan
QLI

3) Maharashtra
ALY

4) Madhya Pradesh
FIRIGEGE

Correct Answer: 2) Rajasthan
QAL

Candidate Answer: 3) Maharashtra
ALIQUY

QID : 285 - Which plateau is situated to the north of Bhadra Plain?

QI ATOR Q QB VIFER 699 AIRPA TS ?
Options:

1) Malkangiri Plateau
AIRQRTQ AIRQE

2) Indravati Plateau
QQISS1 QIR

3) Keonjhar Plateau
6RRQ AIRQH

4) Sonabera Plateau
QRI6Q@! AIRRF

Correct Answer: 3) Keonjhar Plateau
6RRER AIRRA

Candidate Answer: 1) Malkangiri Plateau
AIRQRTQ AIRQE

QID : 286 - Who published first Odia daily newspaper “Asha”?

6G2 6509 AQIQ UG “WEI” Q ISR @ 2QYeM ?
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Options:

1) Gopabandhu Das
6519 @Id

2) Sashibhusan Rath
4998 Q2

3) Bagha Jatin

QI L1

4) Biju Patnaik
Aogalsleliote

Correct Answer: 2) Sashibhusan Rath
49988 Q@

Candidate Answer: 2) Sashibhusan Rath
S53E @

QID : 287 - Who was the first person from Odisha to acquire a graduate degree?
BEGIQ SIox GJ1 AAR YRS JeIFl QUB & ?
Options:

1) Surendra Sai

g6ag A

2) Gouri Shankar Roy
6018 SQ QUL

3) Jayee Rajguru

A1 QARYQ

4) Madhusudan Das
J9ue Q19

Correct Answer: 4) Madhusudan Das
MRYYee QI

Candidate Answer: 2) Gouri Shankar Roy
691Q daQ QUL

QID : 288 - Indian Wild Ass Sanctuary is located in

QAR FER TR AR 6Q 2QEQ |

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




10/6/2019

Odisha Teacher Eligibility Test
Options:

1) Rajasthan
QAL

2) Odisha

6@l

3) Gujarat
oIS

4) West Bengal
QsleIeer

Correct Answer: 3) Gujarat
JeUS

Candidate Answer: 1) Rajasthan
QLI

QID : 289 - Who was the first President of the All India Trade Union Congress?
AP AQG1Y e A°Q @°69Q Q JaIFl QAT @ gem ?
Options:

1) Subhash Chandra Bose
QI8 9% 6918

2) PherozesShah Mehta
ETEACRY dllL 6116L3'

3) Lala Lajpat Rai

@l NRDIS Uk

4) N.M. Joshi

Q. ¢l 644N

Correct Answer: 3) Lala Lajpat Rai
@@ NRAS QAL

Candidate Answer: 3) Lala Lajpat Rai
@@ NPAS QAL

QID : 290 - Jungle Satyagraha was organised in which state of India?

QUG 629 AIFIER SR ANMIFLQ LR QQULIRYRI ?
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Options:

1) Assam

2l

2) Odisha

s@all

3) Madhya Pradesh
CRIGEGE

4) West Bengal
qsleIQer

Correct Answer: 3) Madhya Pradesh
FRIYEQE

Candidate Answer: 3) Madhya Pradesh
CRIGEGE

QID : 291 - Golden Fibre Revolution in Agriculture is related to the production of
q86a 94 0g agQ Q QYIGR TS 26T |
Options:

1) Cotton

@dl

2) Jute

Y

3) Pulses
QIR RISIL 1Y
4) Maize

1@l

Correct Answer: 2) Jute
6QIe

Candidate Answer: 3) Pulses
QIR RIS1L QY

QID : 292 - Dehydration is caused by the deficiency of

Aeraad Q 2RI QAEIQ QIR |
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Options:

1) Carbohydrates
6994

2) Fats

o4

3) Proteins
giqie

4) Water

@

Correct Answer: 4) Water
@

Candidate Answer: 4) Water
@

QID : 293 - Which of the following is the largest hot desert in the world?
FANYe ARIQ 691G QAR A9Q 2@ Q@Y FIQRF ?
Options:

1) Thar Desert
2Q aQ@d

2) Sahara Desert
AL QR

3) Ladakh Desert
RQIS QR

4) Gobi Desert
691Q1 CIQ@E

Correct Answer: 2) Sahara Desert
LIl AR

Candidate Answer: 2) Sahara Desert
ALIA AQQE

QID : 294 - ‘Igloo’ are formed by people residing in

‘REY @ Al 6Q AZYQI ERIR ARG FIRU AT |
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Options:

1) Sahara Desert
LIl AQRd

2) African Forest
TG FER

3) Arctic Region
60 AR

4) Plateau

AIRQE

Correct Answer: 3) Arctic Region
gea1Q 2@

Candidate Answer: 2) African Forest
TN TR

QID : 295 - Asiatic lion are found in which forest of India?

QI Q1Y QRS 689 AURIER 6QGQle dew ?
Options:

1) Nilgiri Forest
ARTQ Erm

2) Gir Forest

e SErm

3) Madhu Forest
R FErm

4) Sunderbans
efalalae

Correct Answer: 2) Gir Forest
I e

Candidate Answer: 4) Sunderbans
efalale

QID : 296 - Cervical Cancer Vaccine is given to

ARG Q G191 AL KRS QTR SR g Q2AN |
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Options:

1) Females

AgR!

2) Males

gQes

3) Both Females and Males
Q09 A20 6 QI

4) No option is correct
6719 Sag O@ g6e

Correct Answer: 3) Both Females and Males
Q09 LR 6 9

Candidate Answer: 1) Females
AER!

QID : 297 - Which type of plants grow in water of high salinity?

QY NG YB FRER 6eQ eI Il 6UAS @A ?
Options:

1) Hydrophytes
o 2Iede

2) Xerophytes
g9 A1 G
3) Mesophytes
616QITIRG

4) Halophytes
QENTIAG

Correct Answer: 4) Halophytes
QERITIAG

Candidate Answer: 4) Halophytes
ERTIRG

QID : 298 - Wheat and Maize are

QL6 G A1l 264 |
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Options:

1) Biennial Plants
geI8a oIl

2) Annual Plants
Q81 QI

3) Perennial Plants
QAL QIR

4) No option is correct
6al9d Sag O@ g6e

Correct Answer: 2) Annual Plants
Q¥ QIal

Candidate Answer: 2) Annual Plants
QTR QIal

QID : 299 - Which of the following is a modified stem?
FANYE AUQ 6998 IR QAIRAS 14 AT ?
Options:

1) Spinach
AR €19
2) Radish
kl

3) Garlic
Qg

4) Carrot
QI

Correct Answer: 3) Garlic
Qs

Candidate Answer: 3) Garlic
Qgé

QID : 300 - Vitamin K can be obtained from

QeIAe 69 Q 919 RAULIRAIER |
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Options:

1) Soyabean and Tomato
6AIATR 8 SRS QIR

2) Milk and Cheese

Q8 684

3) Amla and Lemon

2wl 6 6mg

4) Fish

g

Correct Answer: 1) Soyabean and Tomato
6QIITR 8 YRS QRSS!

Candidate Answer: 3) Amla and Lemon
21 6 6me
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